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000,0000000000000000000°.

00,0 (1249)0r0¢0000000000000O(124)00 (122)(123) 0000000, 0000
obooobmnO¢O 2000000000000.

M(m, q) (125)
Q(m, q) (126)

m

q

gbooobooboobgobboobboo,bob,oobobboobobooboo,booon

mepr = M(me,q) (127)
@1 = Q(me,qr) (128)

0000,0000000 (me,q) 00000006, 000000 ¢t=¢¢+10000 m00 ¢0O
00,000000000000,000

|mt+1 — mt| < € (129)

g1 —aqt| < € (130)

ooooooooooo (me,¢) = (myg) OODODODOOOOOOOOODOOODOOO. e0OOO
e=10°00000,0000000000000000000.0000,00000000000
00o00o00,000000000000 (o, 7T)0D0O0,0000000000000D0O0DO0O0ODO
gboooboboooboobooobo.ooo,0o0b00boooo0oboooobo,0b0b0oobo0oboo
00 (0000000000o0o0o0o0oo0) 7.
ooooobooobooboo0Tr=0400000000000mO0D00O0DO0OD0 «0OODOO
goboo,g0boo2300000.00000,00000 «O0OO0O0OO0O0O0OOO0OO,D0000O0
.~ 007000 mOOODOOOOOOCOOODOO,000000000000000O0,0000¢0
gbooooooobobobooboooooboooboooboobobooobo. obobobooobooog
0000D00000O0O00o0oOoooos®.

[C R B

00000000000000000000000000000000000000,000000000000000000
0000000000000000000000.000000000000000000 (0000000)NDOO000000
0000000000 (N—o0o00000000000000000.) 000000000000000000000000
00000000000000000000 NOOOOOOOOOO,00,0000000 N—-cO000000000O.
000000000000000000000O000OOOoooon.

0000, M(m,q) — M, Q(m,q) —¢0 10000000000000000000000.
000000000,000000000000 (o, 7)0000000,mO00000000 (0000)000000000
00000000. 00,0000000,(00000000000000000000000000000000000)m
00000000000000000,000000000000000000000 mO00000O0O0O0000 20000
000100000 (1000)000000.
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T=0.4

0.8 - i
0.7 i
0.6 - A
05 r A
04 B
03 B

02 F g
01 F a ]

0 0.02 0.04 0.06 0.08 0.1 0.12 0.14

0 23: 0000000 T=040000000000 mO00000000 «000. a~0.077 (00 critical point ac) 00
00mO000m=000000000.

00,00000T=0400000000,7T0000D000,m#A0000000m =000
0000000 «-TOOODOOOOOO,0000000000D000000. 00000000
O (phase diagram) 00 0. 0000 240000000000,000 (retrival) 0000000
000 (o, 7)0000,00000000000000000000000000, 00 retrival 00O
m#0000000000000.00,0000000 (spinglass) 000 m=0000°,000
000000D00000O. retrivalD00 spinglass 0000000000 OOOO. ODOO, retrival
0O — spinglass 00000 mIUOO0OO0O0OO00O0OOOOOOOODO (0D 230000000).
oo,00000,00007r=000000000000000,000000 a, ~ 0.138000
00o0o0o0ooUo.0oo0,0240T7T=000 (00)00000O0O0ODOOOO,000T=0
O ~01383000000,0000000000000000O0000O0OO00O0DODOOOO0O.
00,000000000000000000 200000000, 000000D000DOO0O0O.
(123)(124)000000,¢=1,m=r=00000000000

q =~ 62047“/ Dzz% = Par (131)

P O (132)

(1-p)?
000,000000r000007T=4"10000000000
T = 1++a (133)

gbooobO.0ooobooobooboobooooboboooboooon.

Y000000000000000000D0 ?200000000000000000000000000000000O00000
odoooooooooo,b000000b00000ooooooooooobobob0o0ooooooooooooOoOOobOObOnog
ooooooooooobooooooooooOOOObO000.00ooOO00b000000DOO.
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1.6 T T T T T T T

14+ para ]

12 B

T 3& spin glass
0.8%F -
X

X
06 f XXXXXX
X x

X

i X
02 L retrival X

X
0 1 1 1 1 1 1 >l<

0 0.02 0.04 0.06 0.08 0.1 0.12 0.14 0.16

a

0 24: 00D000000000. 000 (retrival) 0000000000 (o,7)0000,000000000000000000
00,0000000 (spinglass) 00 m=0000,000000000000000. retrival 000 spinglass000000
O0000000. 000, retrival 0 — spinglass 00000 00000000000 O00ODODO (O 2300).
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